ndian Track and Field’ or ‘Golden Girl’?

‘Queen of I
s known as the @) PT. Osha

1 Which Indian athletes i
(A) KrishnnPunia Y il -

() Sunita Rani o
(E) Question ROt menmpwﬁ it 3 afe s ot oAt AT EST Tk’ 3 AT © ST STA 27
Malils ﬁ:m (B) WA FE
) e o (D) wwersia €Y
(©

u'jﬂf(ﬂ“
‘(:,)AMASTE' scheme, is related to which one of the following group of workers?

: (B) Sanitation workers

A) Agriculture workers
( (D) Health workers

(C) Construction workers
(E) Question not attempted

e g R wEl § & ot i & whsifer 27
BT FHIHH

A Rl (B)
©) ffor Ffit (D) TR FIfHE
() Sguiay

. ‘What was the theme of ‘World Sight Day, 2023"7
(A) Donate your eyes
(C) Colour blindness

(E) Question not attempted
“Frm gfe Rem, 2023 i ot (forar) =:am o

(A) =93 TE FL(SHS I TEH) :

(B) i Fd @9 319 A1 % LT i ST T (S AT AT U2 Toh)
(C) Fvii=aan (Fer SATESH)

(D) T (A2 ATzEE)

(B) Love your eyes at work

(D) Night-blindness

(E) Faf@ays
AT W & A WA -
(A) = ®) fa
(C) & ®) T
(E) =uf@uy
Frefofe & «aftr & watgar &
e ‘L’ﬁﬁ b. =
e d ¥y
e. UEH
ﬁﬁﬁmﬁm}ﬁﬂmmmquz
(A) #ab,c3id ®) ¥aete dadte
© aﬁ?a,baﬂtc | :
R (D) e, o3

[ P.T.O.



(o4 2 : ,_;» ‘:_I:'
LI o 5 Cmp
¥ 4 :
(A) ﬁ!h: ﬁ"“&ﬂﬂmﬂmt : &
ﬁ «) w (B) wdy O
| ‘ \o (D) et g
7 ﬁ% : L
*‘“‘"ﬂrmmamﬁmm ‘ e
,._ (C) Rm B L N ¥
E) iy - © W M A 5
8 Slweesmmmﬂm‘“g refeﬂ“’"" %
A) L; soils or areas which have recently lost their community are % fq
© (B) Priseres T g
®) P"““l':nsuc:ce& (D) Secondary succession
llOt a 3
@) n %ﬁwmtwmﬁmmaﬁma mﬁazﬁaﬁg £
© St g (o BTE T r i
®) shays G T e {
9 Following four numer. irs are given. Out of these, three are alike in a certain way b“@‘ s different. Li“
Choose the one which isydifferent from the rest three.
" “uivy Wmﬂ?ﬁ%ﬁqmﬁlmﬂm@m%mtéﬁn@ﬁ:mmﬁ;ﬂﬁmﬁ
(A) 34,204 4 ®) 26,182 - |
(©) 42,252 P (D) 24,144 1
(E)  Question not attempted / et war
10 Find out the incorrect term in the given sequence
ﬁﬁquﬁﬁw@wﬁmﬁ
987, 9(_)__6, 842, 7?_2, 75_@732, 716
(A) 792 ™ (B) 757
© 906 o ©) 842

- (E) Question not ammed/ FANE T
11  Which of the following'i§ correct in regards to RAM?
(A) volatile, permanent (B) non-volatile, permanent

7483 12167483

(C) non-volatile, tenipdrary (D)  volatile, temporary
5 (B) Question not ted
Yo 3y s PR R 8 e |
P m (B) M- m, mi
5 znﬁ (D)  dicterge, deqch




(B) EDSAT. 2006
(D) EDUSAT. 204

(B) Sex Enied domimmms disorder
(D)  Sex knind recessive Esorder

® s rosfas:
D) eSS

B) Cwromosome 13

36 SN L gR——



18 W HS T ey
(A) ﬁnuw:mm'wm-“m“ L

(©)  wHaTas: D) it g
; (EE)Fm“
l (A) mimmwmt
(© o g
(E) NN B, )
20 wdm
B o
© = o
(E) srgefea gu
21 m*“‘“!‘““t—
a. g . b
N d. anm
3w
ﬁm“‘lﬂ‘ﬁﬁt}mmmmmﬂm=
L @ FeEbesha (B) ¥aera,calite
: (©) Faa baic (D) WA b, d e
(E) quf@awy :
2 ATHET 56 31 ¥ for e e w87
(A) BT (B) AT AT
(© A gH A Fn (D) S ST
23 T % foru 3asf & o wrea at et e s &2
- (A) Reminder (B) Memorandum
. (©) Circular (D) Order

. (® soRav

Match List-I with List-II

List-I (Fair) List-1I (Place)
a. Beneshwar : I Karauli
b Kaila Devi II.  Tonk
« LR Jeen Mata : : III.  Dungarpur
. d, Diggi Kalyanji IV. Sikar
-1 et -1 & gafera A
-. -1 (M) et -11 (err)

s







The anclent Drishadyat] and Serssvatl river valley (Present day Ghaggas 17 g

YW Svaren &6 stk i vy ey e w61 o )
el s v s, it 3 Fton 36 o, o i at €51 g Fm 0
(B) ey & sy ek vivey gy i sror st fire B
mmmmmmmmwmimamaﬂh
) W WA e ¥ W fordd i feaa B)
) i uw

‘,.hdmhofnmsm.. who became the ruler of Mewar? (Choose the most appropriate Opes

Rana Uday Singh (B) Rana Amar Singh

Rana Vikramaditya (D) Rana Ratan Singh
_Q'Mon not attempted

o6 e & T g w5 g A A (Fo i @ v 7 e )

wwﬂl‘s (B) M e

3 wﬁmﬂiw (D) TN A faz
) qummr

vely. Find the height of the lower.
mhﬂiﬁwﬂnirﬂimmtm#mwaﬁtwt
m () : (B) 144 m (1)
m () (D) 140 m (i)
not attempted / Hafa 94
iangles are there in the given figure?
v if fapers g 7




® State to organize village
units of Self Government”



g e following became the first state to adopt a road safety action plan?

g | (B) Madhya Pradesh
hira (D) Rajasthan

TQ"“ﬁOD not awpwd ‘

- iﬁm“@“mwmﬁmmﬁmmmm
ol \b (B) wex wam
i e - (D) TEEAH

sgefaws O\

12167483 12167483

3
g
:

Siwesented Rn.iastﬂn state budget of 2024-25?

2 Bhajanlal Sha.lm (B) Diya Kumari

' .Jogaram Patel g (D) Kirodilal Meena
Question not atgempted
4-25 mtﬂﬂ e ferery wega foferm 2
e T O B fe=n g
s @) feeererm

ch of the follomxgbommmee suggested the incorporation of e:ght fundamental d ?
< _3
Dutta Commiq% . 3 (B) Gokhale Committee G 4‘
mmitiée (D) Swaran Singh Committee v A
N o 9

. Questlon not ajtgmpted e L
& Frr iy 3 s e 3 a1 dfer e 1 v 0 1 g e am.

W o ®) e wfif iy w e
D) @i fire affa cn"-

(B) Prem Behari Narain
(D) H.V.R.Iyengar



a1 m:in-r with List-I1 B A Rokiled 0)

L ;l‘:l:;“;'::)my L Protecton ofl'ife and personal iberty
b.  Right to Freedom il. Prohibition of human trafficking and
forced labour
3 Cultural and educational rights m.  Abolition ‘_’f"fl?s i m{!m and academicy
d. Right against exploitation Iv. Right dm’{mt_l“‘w esiablish and administer
Wl institutions
A w gt @ giferm A
™ m::wﬁwm qnnamﬁWﬁa
AT S SR ‘1 St ST T £ g
h AT ST I AR 3w L
c. arepfiE sl et s m. & iR Ao T 1 g
: Jiferat 1 3]
v 4 d. o & foeg sifirm IV. HASTHEAF F NGO Gear o 223 j
‘Choose the most appropriate answer from the options given below: ]
% A= R e fedt # & wartfars suges w0 @ s i :
P (A) a-1IV,b-TLc-ILd-I B) a-NLb-Lc-IV,d-1I f_
MY - Y s-Ih o o1 (D) a-Ib-IV,c-1d-II
: (E)  Question not attempted / 31TafA 74 !
. 42 Who was the State Election Commissioner of Rajasthan as in August 20247
b, f () Madhukar Gupta (B) Prem Singh Mehra
¥ﬂ‘ 1;:: : (C) Inderjit Khanna (D) A.K. Pandey
[ (E)  Question not attempted ;
. FT 2024 8§ T F 77 Frater swpem # on
8o (A) TgFTE (B) ¥ fife dzar |
% (©) F=Sfa@=n (D) U % 9ig %
(E) Fafawy ' _

43  What is the theme for ‘National Science Day 20247
(A) Indigenous Technology for Atmanirbhar Bharat
(B) Indigenous Technologies for Viksit Bharat
(©) Mpnous Technology for Future India
(D) Intemnational Technologies for Wh]t Bharat

! ion not attempted ¥

: P feaw-2024° wﬁwr i 7

[ P.T.0.




’ ":m OhNer arahiteot of the construetion of *Ayodhys Kam Mandi’, (Chrs

J below;)
Chlndrlklm lﬂmpur' ) Arn V"Wd
) Ram Sutar (D) Ingmean m
Question noy alempled o]
g s sfie ¥ fafo i o 1 P ol g o )
R g = AWy e Ay e
R g ‘0 (1) ey v
srpefin wy g o4
0 was the Chief Election Gemissioner of Indis during 2124 1Lk Subha Wlsction” v
Naveen Chawla (15)  Sunil Arora
Rajiv Kumar (D) Cyanesh Kumar ™
E Question not uuampug ®
mmwim.masquammﬁ? :
(A) T e E ) g wh o
(« wrefy -4 L (D) WA :'
) oo s ™

& —
In which of the following yea'r'ﬁcmunenmum of currency was declared by Indian Government?
gree ST wrr e i @ o ad i g i ot Ay viveon 4y vk A7

A) 2018 ™ B 2019 ™
) 2016 e 9] my 2017 3
Question not attemp 4 ~

e is the Indian Institute gfiHandloom Technology located in Rajasthan” o

A) Jodhpur 4 (B) Bharatpur &'
) Jaipur 2 (D) Udaipur -

Question not attempted
¥ wireda g (degew) svefidy sear wvh o fean B
: () B) wE 8
3 D) ZER :
ch scheme 3.25 cra';accounu have been opened in Rajasthan upms‘aptmg»m

Bima Yojana (PMSBY)” z

radhan Mantri Mudrg ¥ ojana (PMMY)”
adhan Mantri Jan — Dhan Yojana (PMJDY)”
dhan Mantri Jeevan Jyoti Bima Y ojana (PMIIBY)”

o 2022 7 3,25 Wi @A AA W 5 B
PMSBY) (B) T 5z T

10




ing was the follower of Nirgun worship? (Choose t

B) W

11



:‘ mh"‘"ﬂsh largest tributary of Indus river?

| Question not b (D)  Chenab
T 32 R 0 vt et e vt et
.-: o . (B) wogw

) Shivalik
) s
)  Question not attempted
R iammmmmmmamh
i (B) frem
(D) s

(B)  Vindhya
(D) Ajanta

) SFERE wN
g the mast appropriate word 1o complete the sentence given.
ar once all the committee members agree

- one another.
., with (B) for
s (D) in

~ Question not attempted
oose the English word for the given word.

“(B) Gazetted holiday
(D) Casual holiday

the most appropriate word for the given sentence.
h who is incharge of the objects or works of art in a museum.
(B) Calligraphist
(D) Cartographer
Juestion not attempted
word opposite in meaning 1o :
VELLED
onfident (B) jovial
idy (D) untidy
| word nearest in meaning to the underlined word.
et’s ingenuous explanation brought tears in everyone's eye,
(B) clever

12

ranges is associated with Himalayan Mountain range?




J.izuaa
f
i
|

kD
-

3 12167483 _gz
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ountry's first underwater metro line was inaugurated by India’s Prime Minister in which city?
i Folksta (B) Kochi

e (D) Delhi

) Question not attempted

T Z 21 o) e stwraran #3) wTEA i 3@ fap v i faper AT AT

) e @)

gl (D) faeeft

srgafE v

i of the following statement is incorrect? . o oxldes L,
‘ During lightning, the low temperatures and pressures created in air, convert nitrogen i
 nitrogen. .
 Nitrogen oxides dissolves in water to give nitric and nitrous acids and fall on land with rain-
Nitrogen gas makes up 78% of Earth’s atmosphere.

Only few form of bacteria are able to convert the inert nitrogen into nitrates and nitrites.
Question not attempted

A fige & & #1991 F9H 7HA 27

 farereht R/ PRt 3 2o, g  Fafi A et e AT S e #
| qhaffa

| T SHTHETES Wi i o AT 3 ATezE s ad & S A & ara i e fireeft 21
 qrgie e g F ArgsEe 1 78% I A 2]

St 3 e 5 S A e g A Az st e H o Ew

. A A

at i the rank of Rajasthan in milk production in India during 2022-237

) Third (B) Fourth

) Second (D) First

1 Question not attempted

2022-23 % FFAR T IAEA H THEA F wTA § | T 87

@ (8) <

' (D) wEEm

&
i

195

re ¥ S 4

1 part of ashvagandha plant is mainly used to make medicines?
(B) pollen grains

(D) roots
estion not attempted :
hmﬁﬁﬁm*mwmmmt‘ ,f,,_ -
D *®©
15

14



7

| i the most appropriz
Which of the following is pot an application of Blood group inberitance? (Choose ppropriate

option)

- (A Treatment of hereditary disorders, like hemophilia.

(B) Treatment of infection of HIV-1 and HIV-2,
(C) ﬁsﬂonofputnuldlqmm.

(D) THdatment of neonatal blood hemolysis. g
(E) not attempted
i e s ot i . e o e T

5 A olar 25 1

S q
e TSRV g :
T

4

(A) feskfesfer && sgatfirs fagmit g gmeme (8)  HIV-1 S HIV-2 Rg01 %1 3791

(© ot a1 (D) e fehferfigd o e
(E) safaug i
The stable ‘Fullerene’ is -
wad sy vt pert - ™
A C® (B) Cuwo oo
(©) 5 (D) Cu g
(E) Question not attempted / AT 94 (¥
Which of carbon is a good conductor of electricity? L
~ (A) Fullerene (B) Coke 2
(C) Graphite (D) Diamond
(E) uestion not attempted
F1d B a1 ATET (e 1 g 27 ™
(A) ﬁﬂa (B) % (@=an i) X
(€) Wz (D) ¥ (zrmvE) :
(E) o4 O
A full epgth image of a distant tall building can always be seen by using :- a
(A) convex mirror (B) concave mirror
(C) aplane mirror (D)  both concave as well as plane mirror

(E) gﬂm not attempted

_ﬁwﬁﬁmm{unﬁﬁwﬁqﬁfkﬁmmmmwwmgg

(B)

(D) maﬂtm%m
N

®) g

[PTO.

112167483
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. 43CO —> 2Fe + 3C0,
ot e above chemical reaction, the reducing agent is -
ot 8 TR et & s -
& B) CO;
.;' FeO3 “ (Dy CO
- Question not attempted / IARA TH
ch of the folldwing is not the characteristic of a physical change?
"i' On m{'ﬂs the cause of change, it is reversed.
o ~ Only physigal properties of substances like state color, smell etc. ch
~ New substahce is formed.
f This chln'gé is temporary.
Quastlou not attempted
pefiaa & & 19 ot ife citads ) frdrear 78 &
B s =0 e e e s AT Y
et Tt o M T 3 o e, €, e e e A
w.wian:ﬁmfw et 1

,.. Glveerol 2H,0 + 0,
_' above chcnncal reaction glycerolisa: on

- Auto czx{lsyt (B) Biocatalyst
~ Positive catalyst (D) Negative Catalyst¥
Qnaitlonlnht attempted f 5

C ﬂ-ﬁ:ﬁ ,0+0, et

2 4
uqm‘éﬁaaﬁr%mﬁﬁmﬂﬁ 2 b
) IIg- (B) I INH

(D) RO 3O

£67483

12167483 12

%ﬁtf
yose the w #yost similar in meaning 10 :
Awme‘.)
p ’Mjb“ v

-'.'\\ 2S110 cn§t atlempted : »
) 0 ple of which of the following?
(B) First Generation Computer

7483

(B) Prolong \O
(D) Permit v~
™~

' em/360 is an exam

Gencranon Computer :

: moﬂ Computer (D) Fourth qu:ﬁhoﬁomputer
L - . Ond m
. ionndt attempted <

/360 & & e JATE €7 .
L (B) ‘Riqu\'%
e

16




(A) =9 A 81 g
(C) =® =& Tm
(E) afaws
Tef1-1 % & g=ft- 361 forerr fifg
TEt-1 (@i
a2 & 3 7=
et & afeget ol
=12 @ ga ' o 3w
_ fo=i & 7 o V. 3mea
3 Lﬁﬁqwﬁmﬁ#mﬁiwawgvsmwmﬁm
(A) a-1V,b-M,c-1,d-1
| a-MLb-1V,c-Ld-TI
- (B) srEfaws
Mﬂnmqproprkuophonmﬁllmﬂnblmh
- Im’tlhlhujqbalone I noed S5 ©

ofm lcttﬂf.ul ,uni.-n 3

17




»ﬂu most app,
@pprop, sentence.
riate English translation of the given

.: hat time do You sleep at n; ght? .
When did You sleep g pyaprr (B)  When did you go to sleep at night?
:‘ jon not attempeg (D) Do you sleep ‘% night?

‘ numbt‘.'r n Elven fi gure. m
@ N W I iy, -
L rh
Q% -
: 4
» ‘te ™~
5
181
o ° (B)y 291 ™M
' Qtﬂlon not attempted e ::
empted /
: SafE wy B sl

_ d@are the roots of the equation 3x2 —13x 414 0, then what is l&gvalue of Z a B

et aB

c aaﬁﬁ T T 327 — 13x 414 =0 FAmm &, ar & +BB mm'&m%‘?

s 85
41 b s

! sg EiE v

) Qustion not attempted / AR v % e

: r.._ Ve

\D

circula a.rk whose circumference is 48:0 m has 10m wide path runnmg around it (outside the park). What

uwm m?2) of the path? (Use“*—,,*)
ards v ot 5ot &, e <t e (9 5 90 1076 aﬁam%m@rmﬁm(d’r—ﬁ)

;,tjv(nﬁ-— T PN ) ;

52300 2
4gab0 n? o) (B) (‘tﬁ
: 50600 2 >
m? (i) O A G?-!
ted / a4 w -
3 ion not attemp andal‘}a?zaﬁ" y, of the voters cast their votes, out of which 4% of the votes were
QRS between tWo © 5% of the total valid votes.

ared invalid. A candidate got 9,261 votes which were 7
at election.

total number of votirs cnrollt;(% l; ::w o, Pt @ 4%@ Ay 9 T mmwhah 9.261
_.»* mﬁ:ﬂﬂ’ﬁ?Sﬁ)qaalal %mmmﬁmmmm

o Bl 3° _
ol e T 7 1 75 8138 I @ QR
Ve
g 3
;Q\l‘lon not attempted / Frafe o4 ol

ol
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S e

=g

et s e e,

ﬂmchoose the correct sequence from the given alternatives

Mﬁmﬁﬁaﬂmﬁrmﬂ

: ,{L‘ I.  MABUSE

i IV. MABEPEARL

IheOptlnnsgwenbelow
i,

(B) ILILLIV

(D) n,m,l_.;;v

19



- : . hed by €
- w5t
. oo 8 v o st vy ey o g A 1 S
o ols #[c 0 -
X ™ . x
- --!-—-___C¢ LIE) C
‘ : O () ™)
g i
. ® | o
= x - e
B X LEmvE
g (D) .
q !_._.'. Ed s
) Question not attempted / #37fr3 ux

symbols are respresented by alphabets as shown below:
¥ ) 38 3197 2 zovta v 3, S8 A R 2

-_ +“~ |=]> <

GI|E|C|D|A|F

identify the correct expression from the given options:

m faw=at 4 8 wh sfusfs @ e 70

18C3G 6B 8B 4D 12 (B) I8F3B6ESG4E 12

18C3D 6B 8C 4G 12 (D) 18A3E6B8G4B 12

Question not attempted / AT 94

starts a business with T 40,000. After 4 months, Bhanu joins Aman with ¥ 20,000. Find their profit
ratio after one year.

G tm,mi;mqa;mwlsmél4##313,%(20,000%“31“%“33“%1@
# 20 % @4 F1 7 I FA) :
4:1 ) 5.

2:1 ) 3:3

) Question not attempted / A 74

Lids : mk'5mmkemdayswo;kjngthoursaday.Howmanyhoursadayshomdm

Mwmdnlmmkinmdays?
w7l 31 q0 73 o 2 12 72 0 A 15 T 10 féeft 2w < & 3eft o 1 20 Rt ey

10 Zfowt % v f2m i o w12 e o e

10 (B) 11
;' (D) 9 i
 Question not attempted / AT ¥4

' 21

20



(E)  Question not attempted 1
ﬁ&ammkmtmu%m AT ST
i (A) e Rdash 00
©) SEwHahE o
e heak AT
SHEECIRS Which one of the following Article§bf the Cons
L of Rajasthan Public Service Comﬁsion'l

~ (A) Article320 -
(©) Article312

(E) Question not attempted

T e 1 e 4 i g
&

© sg=a3ny g RO
(®) St g f~ ‘
Select the most incorrect statement@bout Salar Fores
(A)  Dhok Kathira and Dhawad #té among the chief
(B)  Teak tree is abundantly fouﬂexclusively in Sala
(C)  Salar forests are also found hilly areas of Rajas
(D) These forests are named Salar forests dye to the ¢
(E) QMon not attempted - ;
- (A) BB HRAT (Dhok Kathira) i
(B) avhﬂqmﬂﬁﬁ:mm &

21

iy, .
yrmation
i

12167483 121574335k 12

12167483

7483

12167483

:ﬂt the ﬁlnctiom

e
p

[ P. T.0.



Bannyal Consery
ati
~ Bhilwara 10N reserve is situated | 7
in which of the following place of Rajasth®

,jhumhunu (B)  Ajmer

i-.‘em“ not ampled e
- sfteare : ﬁqﬁi&niamtmﬁmwmh
(B)  srsrin
i (D)
m:ﬁ“tﬁmmm P 3 3 e v s foy v
| hi (B) forra
(D) wEra

e W
yse the passive form of
ml:,:ny dog ul::i g:'(::;:rtz?; :) glwenh
the m;s' l{']’mprime i ﬁ-o:-, :;:O \:n 1 offered T 5000 reward for him.
g which he stole when I offered a reward of Z 5000.

My dog was stolen and brought back only when a ¥ 5000 reward was offered
1 offered a T 5000 reward for the thief only then my dog was brought back ;
Qlﬁtlon not attempted :
se the most appropriate option to fill in the blanks.

Mr. Mehra called while you were out. He wants to make
in the paper. He wasin ____ very bad temper.
A, a,the, a (B) A, X,an,the
) A,aan,a (D) x,an,an, an
Question not attempted
bich conclusion/conclusions would follow on the basis of given statements:
ements: Some Flats are Apartments.
No Apartment is a Hall.
Some Hall are Rooms.
D‘ Jusions I: Atleast some Rooms ar¢ Flats.
b 11: No Apartment is a Room.

I:.ghl of the above statements, choose the most appropriate answer from
(B) Neither conclusion 1 nor II follows

'{ ) Both conclusions I and 1 follow
C) Only conclusion 1 follows (D) Only conclusion II follows
-"11' Question not attempted

ﬁqum%;qu e a1 e, e & A T ST T B
o F© Rz ATEAC 8
1§ FASie B e o

G E e
: ?::wﬁm L T B

4 .

the options given below.

11 % e e &l by =il
_ mﬁtmﬁﬁmﬁrﬁﬂm' Fatfus 3937
“ ﬁmlm“ mtl (B) H‘Tﬁ'ﬁélmqﬁﬂmmh
| e e 1 s T ) mﬁﬁaﬁn e e 8

! ugufarw
23

22

complaint about______——

- —————E



% then how BIOLOGY can be Coded & g
}ntlﬂ 4 g

i i ICS is coded as KSB :
1 zﬁﬁélge s O gl g #1& W1 # BIOLOGY 1 &3 o
af PHYSICS # ¥t i sar § KSBHRXH e ol |
' S ™ ) YRLOLSP ™
I (A) YRMOMTB (B) | YRLOLTB 0
i (C) YSLOMTE! D = : |
sti attempted / TR T : bt has removed from the |;,, |
112 ;?ﬂmc?lu:d\ ::1 nt Act which of the following ﬁmdammtil re* | :3 © list of
fundamental righfs] ¢ inst expl ot&qions ]
Right agai
(A) Right to Freddom (B) o8 .
(C) Right to Property (@) Rightto Equality v

PSR —" SO
(A) EdaT 51 SRR (B) W%ﬁ?m
(D) §AE B A :

;f (E)  Question nod attempted mﬁmﬁﬁﬂﬁﬂﬂ gt 9 g2 fem my
|

!
H: (©) mﬁrma@m

I
; (E) aagaﬂ?fsrq_l i ;
| 113 On which date RByannounced withdrawal of T 2000 currency notes from circulgtion. (Choose the mog ap-

( propriate option ffthn below:) N

(B) May31,2022 v

i | (A) May 19,2023
‘ (C) April 16,2020

(E) Question ot attempted : .
fra fafa =t .aﬁ.ﬁtzm%ﬁ#ﬂztmﬁ&ﬁﬁmﬁ%ﬁﬁﬁﬁmmﬁm

(D) August 15,2021

?‘) ~ -¢
(A) wE 19,2089 (B) W%31,2022 ~
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Question nof attempted / 3ryafta wa o~
given passage and answer the questions that follow: (Q. No. 120 to 124) v

3 Delhi: tht_bf'?‘ _is Playing chess online, ordering food on a delivery platform, interacting with bots for
ases (o qu_enMagmg patients or creating deep fakes, Artificial imelligppfe is now entrenched n
jern life. It l'gﬂ'prising then that universities and research institutes are cafgging out extensive studies

only on the application of Al in multifarious disciplines, but also on the im the technology has on
es. At the Yardi School of Artificial intelligence in Indian Institute of Technolagy, Delhi, studies are being
nducted on buildidg Al algorithms that can be used for different applications- 3 dialogue system where
tients can talk t87dn agent about patient history, machines that can interpret pirasound images and CT
ans and systems to predict cyclones early. The range of studies is extensive.
‘ ot of the studiwt Yardi School are also assessing the existing Al algorithms to plug gaps and social
ses present. Abhijan Chakraborty, assistant professor, IIT-D, said, “While these days, the hype is around
hatGPT, there ar®Dther kinds of algorithms that are already in practice. For inéé:ce, when one applies for
Joan, banks use 4 model in which data on the customer generates a sense of hoW risky the loan will be. In
“ of the contexty used for Al it was found that the algorithms tend to be unfair to marginalized groups
pecause there mightinot be much data available and the model automatically asspmes that the person is a
otentiz defaulter™ N
'- craborty talked about its use in the judicial domain. “People are using a sort ofipfedictive tool to determine
w likely a persaffs to commit a crime if released on bail,” he pointed out. “A study showed that it was Y
biased agaifSt African Americans with even those who hadn’t ever commigted a crime being classified |
high risk.” It isBecause of these drawbacks that Chakraborty said the studi€®at Yardi School “aim to
ate algorithms th@it are fair across diversities, ethnic, religious, linguistic or gﬁ“nff“- “We mean to rectify
ything that M impacts any particular group,” said the assistant professor.\()
entists are aimifig'to create an unbiased algorithm- "N"
. To study about potential defaulters w
 To start a dialogue system for future patients i
;j!'o study the impact of technology on human liver
'- Mge the gaps and remove social prejudices
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following will sink in water? EB
- Empty plastic bottle with closed lid (B) A wgeglen stick
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136 Chms"t the most appropriate option for the reported form of the given sentence:
“Read it for yourself if yqy, don’t believe what 1 say”, he told me.
(A) He suggested that | read it since T didn’t believe what he said.
(%) e tald me to read it as I didn’t belleve what he said,

He told i
() < me to read it for myself if | didn’t believe what he said.
(D) e asl.(ed me to read it himself if T was not ready to believe.
(E) Question not attempted

137 Choose the most appropriate option 1o fill in the blank:

Rita didn’t see me wave to her. She in the other direction.

(A) was loc.)kmg (B)  has been looking
(C) islooking (D) looked
(E) Question not attempted

138 Choose the most appropriate option to fill in the blanks:

The accident victim by the time they him to the hospital,
(A) wasdying, rushed (B) will be dead, have rushed
(C) was dead, rushed (D) had died, had rushed

(E) Question not attempted
139 SFIEE IET ITE HT T 7 -
(A) & (B) ™
© D) IH
(E) gafasd
140 753 T ‘35 - 3T o [T W a7k Eh-
(A) TS -dReA B) - @
(C) =mee-ad (D) e - fas
(E) el 94
141 Five students participated in a scholarship examination. Suman scored more than Preeti. Komal scored less

than Sunita but more than Suman. Mansi’s score is between Preeti and Suman. Who scored least in the

examination?
(A) Preeti (B) Komal
(C) Suman (D) Mansi

(E) Question not attempted
e Bt 3 Bt e i fire feram gee il & s i fie e 6 gl & 9 St W gu St 3
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(A) To obtain biologi ucts (B) re regulbfed
F© To test toxicity safety, ®) Ta ey, ™
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l**'hlt:h of the following is not a fibre yielding plant?

" (B) Coconut
ﬁ; g : (D) Cotton ,,;"
:, Question not atterpted '
.mﬁﬁmmbﬂmWﬂh
(A T . B) e
(©) werd (o ) ‘ (D) ww
. ® S N
147  Which of the following is NOT an input device? :
(A) Mouse (B) Projector
(C)- Touch Screen (D) Scanner
(E)  Question not attempted
P & & 2 w1 g ferew 2 &
. (A) W=E (B) Wt
| (©) TN ' (D) . - :
: (B) FERaTH .
148 A tool used for operating industrial robots, playing computer games and training flight simulators is called:
- (A) Lightpen (B) Mouse
~ (©) Keyboard : (D) Joystick

~ (E) Question not attempted
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£ BraT & Feaar € -
A W (B) W

fraE (D) Srf®
(B) FERAYA |
In which referencing, the cell reference does not change while copying the formula?
(A) Relative referencing (B) Mixed referencing
.:(b) Cell referencing (D) Absolute referencing

- ® Question not attempted

ich of the following is a smallest data unit of a computer?

(B) Nible
(D) GB
Question not attempted
fea & & I dwget 1 A e g &2
1% (Byte) - @) f@e (Nible)
i (KB) (D) it (GB)
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